
Predifined size functions
A=[1:4;linspace(1,8,4)] A=ones(1,3)

>>numel(A)
ans =

8

ans =

3

>>length (A)
ans =

4

ans =

3

>> R=size(A)
R =

2     4

R =

1     3

>>[n,m]=size(A)
n =

2

m =

4

n =

1

m =

3

>>size(A,1)
ans =

2

ans =

1

>>size(A,2)
ans =

4

ans =

3

>>ndims(A)
ans =

2

ans =

2



Elements extraction/indexing

• variable_name(linear index)          

• Variable_name(row,column)

A(0)

A=[1:4;linspace(1,8,4)]
A =

1.00    2.00    3.00    4.00

1.00    3.33    5.66    8.00

A=ones(1,3)

A=1 1 1

>>A(3) ans =

2.00

ans =

1

>>A(2,3)
ans =

5.66 
error

>>A(end)
ans =

8

ans=

1



Elements extraction /indexing
A=[1:4;linspace(1,8,4)]

A =

1.00    2.00    3.00    4.00

1.00    3.33    5.66    8.00

A=ones(1,3)

A=1 1 1

>>A(:)

ans =

1.00 

1.00

2.00

3.33  

3.00

5.66

4.00   

8.00

ans =

1 1 1

>>A(:,3)
ans = 3.00

5.66
1

>>A(1, [2 4])

>>A(1,2:2:4)
ans =  2.00   4.00 error

>> A(1:3)

ans =

1     1     3 1     1     1



Elements extraction

Logical search



Elements extraction/ indexing

A(0)

A=[1:4;linspace(1,8,4)]
A =

1.00    2.00    3.00    4.00

1.00    3.33    5.66    8.00

A=ones(1,3)

A=1 1 1

>>A(3)=-5
A =

1.00    -5    3.00    4.00

1.00    3.33    5.66    8.00

A=1 1 -5

>>A(1,3)=-3
A =

1.00    -5    -3    4.00

1.00    3.33    5.66    8.00

A=1 1 –3

A(end,end)=0

A =

1.00      -5        -3      4.00

1.00    3.33    5.66      0
A=1 1 0



Elements extraction/ indexing
A=[1:4;linspace(1,8,4)]

A =

1.00    2.00    3.00    4.00

1.00    3.33    5.66    8.00

A=ones(1,3)

A=1 1 1

A(:)=5 A=   5     5     5     5

5     5     5     5
A= 5 5 5

A(:,3)=0

A =

1.00    2.00    0    4.00

1.00    3.33    0    8.00

0 0 0

A(1, 6) error error

A(1,6)=-1
1.00    2.00     0     4.00         0         -1.00

1.00    3.33     0     8.00         0             0
1  1  1  0  0  1



Delete operator
>>A=[]

>>A(row, column)=[]

>> A(2)=[]

A =

1.00    2.00    3.33    3.00    5.66    4.00    8.00

>> A(2,3)=[]  error

>>A(:, 2) =[]

A =

1.0000    3.0000    4.0000

1.0000    5.6667    8.0000

A =

1.00    2.00    3.00    4.00

1.00    3.33    5.66    8.00



Functions /Operators



Elementwise operations
a=1:4  identical size  of a and 

b  

b=10:10:40   

>> a+b  >> plus(a,b)

ans =

11.00         22.00         33.00         44.00

>> a-b

ans =

-9.00        -18.00        -27.00        -36.00

>> a.*b   >>times(a,b)

ans =

10.00         40.00         90.00        160.00

>> a./b  >>rdivide(a,b)

ans =

0.10          0.10          0.10          0.10

>> b.^a

ans =

10         400       27000     2560000



• mtimes  size(A)

• mrdivide, mldivide  solves the system of 

linear equations : x.A=B  , A.x=B (algebria)

• mpower  A^2 is equivalent to A*A.

2/A (algebria)

Algebria operations



• mtranspose, transpose 

Algebria operations



Scalar/array

operations



Functions /Operators



>>help ops

Functions /Operators



>> 5<3

ans =

logical

0

>> 5>-1

ans =

logical

1

1:3==[1 2 4]

ans =

1×3 logical array

1   1   0

Functions /Operators

>> E= 3 & 7

E =

logical

1

>>R=  0 |0

R =

logical

0

>> xor([1 1 0 0],[1 0 1 0])

ans =

1×4 logical array

0   1   1   0




